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BERXAZT+TBHLEE

—2E=F —TE_F
i3 HEBT BEET
REA—RZEER  WHER 53,651.3 57,648.0
S EEHEE 27 (51.4) (51.4)
REA—RZEER  KRES 53,599.9 57,596.6
RE RO R ) 3 5 kB A 27 (1,747.3) (1,856.0)
WEEFERNEMBHER 27 — (33.8)
mERRER (BAD
NG 27 (75.0) 5.9
HEEHE 27 (116.3) (263.9)
REFSFEHEAM 27 (531.9) (220.1)
FRNREBHBHBALAFE R85 R A 35.6 93.0
BREBIINHBAR - BEDRK
HAZHERUBHRRELEZSE 27 (85.6) (6.6)
ARNEERERZERFHE (2,520.5) (2,281.5)
R PG (B518) 3% A (4,811.5) 1,275.4
HERBERBEEMEMER 2 EHBH 27 = (2,406.3)
HEREBFER 2EHAR 27 (35.0) (5.3)
AEFEIRE S E B A AR 18 5 IR A 59.2 46.5
EERE
B B R A 27 = 169.9
HE—HRAZESEE 27 6.2 6.7
B E
kS /NC] 27 = (349.4)
i 010 BT B A R AR 4 27 = (27.1)
HE—HREMRE 27 = (216.2)
HERREEERER 27 17.7 1.5
ERES 27 (348.1) (428.3)
BT 1D 26, 27 168.5 217.7
BITRHER 27 (0.2) (0.3)
RANA=Z+BZ@#ER 46,136.2 53,599.9
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